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BEARES THRFRDEEh(m) TEROREAFAKN/m?) | BEVOM HP2N/m2) | HEErRERES TEROESKM) | TEROFEAFDKN/m?) | BEDOM HP2(N/m2)

MNo.O 0.74 34.93 9.75

No. 0.56 20.63 12.39

N2 0.50 15.92 13.67

Mo.3 0.32 7.42 20.77

No4 0.29 571 2239

N5 0.28 4.79 2322

M6 0.36 7.01 18.56

No.7 0.31 4.79 21.29

Mo.8 0.30 3.99 21.62

MNo.9 0.30 4.12 21.93

Mo.10 0.30 4.05 21.75

M1l 0.30 3.47 21.68

M.12 0.30 3.40 21.68

Mo.13 0.30 311 21.62

MNo.14 0.31 2.55 21.27

M.15 0.31 229 20.96

M.16 0.38 1.14 17.60

M17 0.35 1.33 18.92

M.18 0.37 1.18 17.91

Mo.19 0.50 0.59 13.84

MNo.20 0.65 0.33 10.89

M.21 0.44 0.74 15.47




